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LET A=1

PRINT A

LET A=A+1

IF A<=1000 THEN GOTO 10
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FOR A=1 TO 100
INPUT X, Y
PRINT (X+Y)*2,X*Y
NEXT A
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FOR A=1 TO 1000
PRINT A
NEXT A
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FOR A=1 TO 20

PRINT AN 2
NEXT A
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INPUT A
FOR X=1 TO A

IF AMOD X =0 THEN PRINT X
NEXT X
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INPUT A

FOR X=1 TO A

IF AMOD X=0 THEN LET C=C+1

NEXT X
PRINT C
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LET Bank = Bank + x
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FOR A=1 TO 100
INPUT x
LET Bank = Bank + x
NEXT A
PRINT Bank
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FOR A=2 TO 100 STEP 2
PRINT A
NEXT A
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FOR A=300 TO O STEP -3

PRINT A
NEXT A
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FOR A=1 TO 5 STEP 0O
PRINT A
NEXT A
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INPUT A
LET Max=A
FOR X=1 TO 99

INPUT A

IF A>Max THEN Max=A
NEXT X
PRINT Max
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